log, 81 = 2 WE5t= x 9 327

@ 3 @ 9 ® 12 @ 13 ® 81



log 5 (log, 4) = 4 & FFEdH= x 9 gk ofofet
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3. logys 50 EAE] ST x O] WS
D -2<x<-1, x>-1 @ -2<x<-1,x>-1
@ 2<x<-1, x>-1 @ 2<x<1, x>2

® 2<x<2, x>3



4. logi (% + 4x - 3) Gl EAISI] 15 x O] WS?

D 1<x<2 2<x<3 @ 1<x<2, 2<x<3
® 1<x<2 2<x<3 @ 1<x<2,2<x<3

® 1<x<3,3<x<4



5. log(yn) 39 GOl ZAISI] 915 x o] WS

D x<1 @ x>-1
@ 2<x<-1, x>-1 @ -2<x<1

® 2<x<-1,x>1



6.  log,(x—5) 2] @ol EAEY 1% x 0] W=

® x>2 @ x<2 ® x>5 @ x<5 ® x#5



7. logy(x—8) 9] kol ZASIY] 1%k x 0] W=

D x>4 @ x<4 ® x<6 @ x>8 ® x=8



8.

ok A9 gt % ol o

@ 910g94
® log, 3logs 5logs 16

® logy 81

T






10. log,(logg x) = 1= T=sh= x 9] = F-shofzt.

D L
3%



11, log, 5(—x+6x—8) o] BIEI7] 9Iak A% x o] gre] W9lE b2

D 3<x<4 @ 5<x<T ® -1<x<3

@ x>0 ® 2<x<5



12. a=log,(3 - V8) %4 m, 29 + 279 ] k27

D 22 @ 2V2+1 ® 243
@ 2V3+1 ® 42



13. a— log;(logs 7) Ql uj, 44 9] gre?
2logs 2

D logs7 @ logs5 @ 3952 @ 3osss (3 3loss7



14. log, 4(—x* + 6x—8) 9] gho] ZAH3H7] 9l A% x 0] W

D -1<x<3 @ 0>x ® 2<x<5

@ 3<x<4 ® 5<x<T



15. RE A4 xoll tote] log, (22 — (a — 1)x + 4} ©] gtol EAs517] $ih
a®] e "el=?

DO -3<a<5b @ -3<a<h B® -1<a<l1



16. 2= A4 xoll tisto] log_g)2 (kx® +kx+1)°] 1S
ko N7

@o @1 ® 2 @ 3



17. log_ (=x* = 2x + 15) &] gko] HAH LS ot BE A5 x 9| 819

g2

@® -15 @ -10 ® -6 @ 2 ® 4



18. a*¥log, b S Tt Eol HERH

ofmf, -9 @l Lot Fh2?




19.

log,_o(=x* + 4x) 7} 4 2] =] 7] ¢fet 4

D1 @ 2 ® 3



20. == A xol tisto log_ge (kax® 4 kx + x) ©f k] A5 1%

A ko A

@o @1 ® 2 @ 3 ® 4
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22. R A5 xol tishe] logy, s (3ax? —ax + 1) ] A =7] 915+ B4 a
9] 7§45 stk

D
=%



